
Factorisation d'Exposants (H)
Décomposez chaque exposants en facteurs.

98 =

224 =

76 =

112 =

258 =

1810 =

203 =

217 =

214 =

154 =
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Factorisation d'Exposants (H) Solutions
Décomposez chaque exposants en facteurs.

98 = 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9

224 = 22 × 22 × 22 × 22

76 = 7 × 7 × 7 × 7 × 7 × 7

112 = 11 × 11
121

258 = 25 × 25 × 25 × 25 × 25 × 25 × 25 × 25

1810 = 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18

203 = 20 × 20 × 20

217 = 21 × 21 × 21 × 21 × 21 × 21 × 21

214 = 21 × 21 × 21 × 21

154 = 15 × 15 × 15 × 15
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